BILL OF MATERIALS

NO. DESCRIPTION DESCRIPTION 2 UNITS [QUANTITY
8837 |PLATE 30" DIA. F/OT 112" PE EA 7
1/2* BLACK PE PLATE 8884 |BRACING 2" X2' X 3/16" ANGLE |SS W- 3/8" DIA BHON 6’ CTRS| N 30
8881 |HINGE 2" OPEN WIDTH PANO |58 N 30
8882 |HANDLE F/OT CVRS 5 EA 7
i 8335 |BOLT 1/2" X2 1/8" FLT HD SLOTTED BLK PE EA 6
n_”_mzv mw.\ Wm_,m_ﬁ_._”.Mw HOLES 9245 |WASHER 1/4" FLAT ss EA 10
9246 |WASHER 1/4" LOCK 55 EA 5
5 9247 |NUT 1/4"-20 HEX 53 EA 5
J \ 6> 9,16 BOLT MOLES | 9248 |BOLT 1/4-20 X2 HEXHD 55 EA 5
. ON A 27 BOLT CIRCLE | 8861 |GSKT 30" OD X24" ID 3/8" PE EA 1

2/—g*

! ] o o 0\ o

0O 0O 0 O 0o 0o 0o 0 o o o o
T T 1T 1T T T T T T T T 7

I
Y
n.w, O 0O 0 0O 0 0o o 0o o o o o

\

& 2’ X 3/16" ANGLE SS
|

9

7

6

RIVETED HINGE SS

HANDLE SS

CONFIDENTIAL PROPERTY OF

POLY PROCESSING COMPANY

NOT FOR REPRINT OR USE
WITHOUT PERMISSION

2’ X 3/16" ANGLE SS

DWG TITLE

ﬁﬂ||44 30IN OPEN TOP HINGED LID

—]| |—— 1/P*

SCALE: pr=q/—* nv m“m--”ma__“m.m_mﬂou . DRt B. DUMAS
DATE! POLYPROCESSING L [
8/23/2007 CONPANY e XXXXXXXX
SHEET COMPUTER FILE REV

1 0F 1 9393 -




